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Note : Attempt all questions.
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Question No. 1 is an objective type question. I1 has three
Sections—Section (A), Section (B) and Section (C). In
Section (A) Multiple choice ques-zic-ns. in Section (B) Fili
in the blanks and in Section {C} Matching questions are
given. Each Section has 5 questions and each guestion

cames | mark.
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(Sectton-A) Choose find wriie
()W A4 7 gl 4 v 1 8
(3n) 14
(e 16
( W IR
(%) 20

Number of Kadices in Revenue Chaln s

(@) 15
(h) 16
(c) 18
(d) 20

(iny et g’ wafaa §
(3n A
(@) ¥eh A
(7) w0 d
(7 *wA

'Sheet testing” is related to
() Jam
(b)) Jelly
(c) Squash
(d) Ketchup

the ETTIEEN | nl‘rlluﬂ :
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(1) ¥8.007 aiftifsa 4 4 foqy we w8

(iv

(v)

—

(1) HEh i}.{ :I;,
Caf) wi-Ng
(¢ M- sEd)

() gl sy

Crop rotation Tor unirrigated arca in C.GL s

() Muize-Wheat-Mung,
() Paddy-Wheat
(¢)  Paddy-Linsced

(/)  All ol the above

vt ) snfera] A fo swar 3 aend R

(30 1. &I
(&) A 3EHN
(®) V 3R
(%) 3ngaE

Stone drains are usually made in

(a) 1. shape

(h) Ashape

(c) Vshape

() Rectangular
e &
(37 9™

(7)) 2.4-D
Fungicide is
(a) Thayrus

(¢) 24-D

(&) wenfaafa
() By

(hy Melathion

(d)y Dalapon
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wvA-1  (Wus-®) e w5 o #if [lxs@ |
(Section-B) Fill in the blanks :
() T 5 - T 8RR g
Cropping intensity % = Total crops area (hectare) % 100
(i) S A I T wfwm g, 2 A
Percentage of pectin in Jelly is .
(iii) w3 B faeR T Tl FARi M @R A wed el oS
Crops produced to feed cattles is called .
(iv) ST M RyER A m s e
The Chairman of Agriculture Extension Committee on central
levelis
(v) oifdfead & ¥ faq_ oia woe o TaR-393- A €
Jwar-Black gram split-pigeon peas for non-irrigated area is a
crop rotation for ____ years.
W-1  (@Us-W) WE S SR ; [1x565)
g '3’ gve ‘g’
() THIHE@@EE@ER - (@) TR TSR ¢
(i) TEAEEATETER - (b)) THEHIEN s
(iil) FER @R - (¢) 9Y TE WIARM
(v) fEffaww@Ear - (d) T+ Wi
(v) foewalfafu - (¢) T@HM?
(Section-C) Match the following :
Part A Part B
(/)  Annual weeds - (a) Congress grass
(#) Perennial weeds - (b) By hand
(7&ry Companion crop - (c) Bathua and Satyanashi
(iv) Biennial weeds - (d) Wheat + Mustard
(v) Spreadingmethod -  (¢) Dub grass
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Instruction : (B) Question Nos. 2 to 9 are very short answer type questions.

Each question carries 2 marks. (Maximum word limit of

answer is 30 words)

9 % g fafaw (D2
Define Jam.
'ICRISAT" =1 J@&aTed Fel | @ & 2 ()

Where is the head-quarter of ICRISAT situated?
A 9% F 2 o fafan) [1e-2]

Write two advantages of crop rotation.

et A gaii & I fafae (Fg 70 | (Dsxa=2)

Write names of flowering plants (any four).

fg T Y TG F Fa F A Y A @Y ? @
Which fruit is known as apple of poor?

o Al ! IR A TR (F 3) | [1+1=2]

Explain the audio aids with example (any fwo).

fa TaR el & o fafey (1 g | 1+1=2)

Write merits of extension ideal worker (any two).

' s’ F arefas T @ Fo faray [1+1=2

Write botanical name and family of ‘Aonla’.
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T : (¥) W HRIF 10 W 13 TF agEwiy yE ¥ g TH W
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Instruction : (C) Question Nos. 10 to 13 are short answer type questions.
Each guestion carries 4 marks. (Maximum word limit of
answer is 75 words)

uv-10  we- T 1 yonfert ) fax g g9 B

Explain drainage system with the help of diagram.

ygar
OR

wa-frema & o (wew) fafaw (38 901

Write advantages (importances) of drainage (any four).

F9-11  T&F 820 W & 30 Sfe 97 | it 7 | 9iie wowes 9 @ 3 §9 g1
oY | 41 7 0 i areafas TR FY A S| ()4
820 feet length was measured by engineer's chain. Chain was found
3 inch longer than the standard chain. Calculate the actual length
measured.
3rgqr
OR

fr Alwel & AYR W 98F F AAfAT TR @ fF o @i #\
GAGel H1 T FIFAC :

q

h ~| 450 W

90 dt, #— 2007 |— W g0,

T

0% §— B9 [~z eoh

q

k2 |

Al

Draw a diagram of field and calculate the arca of any one plot on the

basis of the following data : 5

450 C
9OmV —300mpP— C 80m
R

70mE — 150 = D s0im

v

1'\
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wyA-12 IuH et 1 9r fadmand fafaa) [141+1+1=4]

Werite four characteristics of good Jelly.

aar
OR

Tl TR Wil 9fte F arurd fagia fafae (@8 a9 | [1x4=4]
Write temporary principles of fruit and vegetable preservation (any four).

U139 R F) A @ e g fafy A s s anm ® 2 [4]
What do you understand by ‘Biyasi’ in site method in paddy?

3rerar

OR
i A e & F e e 6 2 (D)

How will you control weeds in paddy cultivation?

et . (2) YA HHE 14 T 15 THSAE YA T TEF TH W
s st STEfm £1 (IW F U TR-T 150 TR ¥)

Instruction : (D) Question Nos. 14 and 15 are short answer type questions.
Each question carries 5 marks. (Maximum word limit of

answer is /50 words)

wya-14  feoafori fafaa : (245 25=5)
(3) YA 2T TIEA
() QR ATEH
Write notes on :
(a) White button mushroom

(6) Opyster mushroom

OR
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feroforat fefirg -

(37) ‘W g’ & i sada o
() ‘e’ & 9 sl

Write notes on :

2Yvi+2y= 5]

(a) Three medicinal values of ‘Safed Musli’

(6) Three medicinal values of ‘Kalmegh’

‘el Fit Wdl' 1 v Fafafas fagai 4 FifaT [1+142+1=5]
(37) arefdes W

(7)) @R (F)

(®) 3a feed (98 3N

(?) Wed

Describe the cultivation of chrysanthemum’ under the following heads :
(a) Botanical name

(b) Family

(¢) Improved varieties (any two)

(d) Importance

arerar
OR
ﬁmaﬁ@ﬁmaﬁaﬁaﬁaﬁaﬁgsﬁﬁm [1+1+2+1=5]
(37) aFEafds =
(&) 9fEr (F)
(@) 3= fondll (FX &)
() wgd

Describe the cultivation of *Tagetes spp’ under the following heads -
(a) Botanical name

(b) Family

(¢) Improved varieties (any two)

(d) Importance
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truction : (E) Question Nos. 16 to 18 are long answer type questions.

w-16

(91

: () ¥ HHIE 16 A 18 9% AdIwiy
. . 791 €1 TAF IEH W
6 3% HAMEfed €1 (I Y stfirran w-dm 250 =g )

‘g Y et 1 vl Foes v & S W Ff

Each question carries 6 marks. (Maximum word limit of

answer is 250 words)

(37) amefas M

(%) @R (F9)

() I fred (FE T&)
(3) fa=

(3) ITVETRW

(%) HES G

Explain the cultivation method of

following topics :

@
®)
©
(d)
©
)

et F a1 v P fagel ¥ R W R :

Botanical name
Family
Improved variety (any one)
Irrigation .
Yield/hectare
Crop protection

qar

OR

(37) aAFFEfad TH W@ Fa
(%) wonfet (9 gh

(1+1+41+1+1+1=6]1 ()

‘Mentha’ on the basis of the

(1+1+1+1+141=6)
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(=) o

(3) GRwE G

(3 (I8 =)
(%) wFa

Explain the cultivation method of *Ocimum’ on the basis of the
following topics :

(a) Botanical name and family
(b) Species (any two)

(¢) Transplanting

(d) Manure and fertilizers

(e) Disease (any one)

(/Y Importance

117 EIEER b # f 3: it fafudi sl § T i (1-656))
Describe in brief any six mechanical methods of weeds control.

Heqr
OR

@UAER § A F1 GHEd € 2 TUAan F B Way & U W

ffapTer 1 G819 H qAREY | [2+4=6}

What do you mean by weed ? Explain in brief classification of weeds
based on crop relationship.

UF-18  ‘am’ @ gdl %1 aui o vl § $ifeg - 14142+ 1+1=6)
(37) arFefas 9™
(%) AR (F9)
(@ el (¥ gh
(7) #evdim (3 o)
(3) w¥d
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Explain the cultivation of ‘Mango’ under the following heads :
(a) Botanical name

(6) Family
(c) Varieties (any two)
(d) Insect and disease (any one)

(e) Importance

Haqr

OR
IR B AR ol P v A R [1+1+1+2+1£6)
(37) areafas ™
() $a

(7) To&m (98 &)

(7) =it wee (F1% 37

(3) Wwd fm

Explain the cultivation of ‘Guava’ under the following heads :
(@) Botanical name

(6) Family

(c) Variety (any one)

(d) Commercial importance (any fwo)

(e) Disease and control



